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alpha13_4eX1X:cyclenum {run == 7329}
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alpha46_4eY4aY:cyclenum {run == 7329}
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delta13_12X4eX:cyclenum {run == 7329}
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segment:cyclenum {run == 7329}
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run:cyclenum {run == 7329}
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cyclenum
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usl_coil1:cyclenum {run == 7329}

8728 8728.5 8729 8729.5 8730
cyclenum

1−

0.5−

0

0.5

1

us
l_

co
il3
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8728 8728.5 8729 8729.5 8730
cyclenum

7327

7327.5

7328

7328.5

7329

7329.5

7330

7330.5

7331

ru
n

run:cyclenum {run == 7329}
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cyclenum
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usr_coil1:cyclenum {run == 7329}
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cyclenum
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8728 8728.5 8729 8729.5 8730
cyclenum

1−

0.5−

0

0.5

1

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7329}
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8728 8728.5 8729 8729.5 8730
cyclenum

1−

0.5−

0

0.5

1

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7329}
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run:cyclenum {run == 7329}
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